Filbyter Bridge
Partavling med hcp 2021-12-22

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 2 253.2 58.61 Ann-Margret Bokmark - Inga-Britt Nordstrém 78984 88454 Filbyter Bridge
2 5 246.7 57.11 Gert Sjunnesson - Birgitta Melander 47447 29210 Filbyter Bridge - Skadnninge BK
3 12 2424 56.10 Ove Kindstrand - Conny Lellky 995 88451 Filbyter Bridge
4 19 237.4 5495 Lars Kvissberg - Marianne Kvissberg 51550 84687 Filbyter Bridge
5 10 231.8 53.65 Siv Gustavsson - Jan Gunnarsson 87227 40110 Filbyter Bridge
6 13 230.0 53.23 Roger Hilmersson - Carl Ragnarsson 42107 2498 Filbyter Bridge
7 18 219.4 50.79 Maud Kylinger - Lars Olson 31298 9206 Filbyter Bridge
8 20 215.8 49.94 Marie Cederkrok - Anita Bergstedt 40103 35005 Filbyter Bridge
9 6 214.8 49.71 Bertil Helmer - Stig Petersson 81583 88456 Filbyter Bridge
10 8 2145 49.65 Sture Mattsson - Lennart Linnerstedt 1503 1317 Ljungsbro BK - Filbyter Bridge
11 9 2125 49.19 Jorgen Nilsson - Dan Jénsson 66519 66520 Filbyter Bridge
12 17 2105 48.74 Gun Karlsson - Ake Karlsson 1201 1176 Filbyter Bridge
13 14 2105 48.72 Bjorn Pedersen - Arne Melin 14134 85944 Filbyter Bridge
14 4 206.3 47.77 Maj Danielsson - Sivert Danielsson 37932 37933 Filbyter Bridge
15 1 206.2 47.74 Daniel Matus - Maria Klingspor 90716 1445 Norrkdpingsbridgen - Filbyter Bridge
16 7 205.8 47.64 Ann-Margret Olsson - Roger Johansson 26892 67449 Filbyter Bridge
17 3 199.9 46.28 Orjan Randhede - Bengt Andersson 6043 9212 Filbyter Bridge
18 11 196.0 45.36 Sture Lennartsson - Olle Karlsson 11845 33615 Filbyter Bridge
19 15 190.0 43.98 Leif Lyngmo - Lennart Karlsson 85153 1196 Motala Bridgeallians - Filbyter Bridge
20 16 176.4 40.83 Zeb Wiltgren - Jan-Olov Forsslund 60124 61040 Filbyter Bridge
1 4 E5 Basta kontrakt 2 & DKn96 Basta kontrakt 3 4 EDKn8 Basta kontrakt
Nord v 1096432 ANT O =-430 Ost v KKn4 34 O =-140 Syd v8 64 S =980
Ingen + D82 NS ¢ Kn3 ov + D105
»86 & ¢ v & NT #K942 & ¢ v & NT #EKD95 & ¢ v & NT
« D82 4KKn1097 N 4 3 7 3 3 4EKB842 473 N5 4545 4106 « K94 N 126 101211
v EK5 v 387 S 43733 v 863 vD102 S5 4445 vKn104 vK972 S 126 101211
¢ K54 ¢+ E1063 O 9 106 1010 + D97 ¢ EK52 089 898 49874 ¢ KKn632 016312
#Kn754 &ED V 9 106 1010 #103 *ED86 V898938 #Knl1074 %6 V16312
4643 4105 #7532
v DKn vE975 v ED653
+ Kn97 + 10864 +E
#K10932 #Kn75 %832
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
19 2 3vyN-2 *A -100 180 0.0|11 3 2NO-1 +4 50 13.0 50| 8 10 3NN+2 3 460 18.0 0.0
16 8 24 O+2 vQ -170 16.0 2.0|12 15 3NO-1 +8 50 13.0 50| 9 16 44 N+1 &6 450 13.0 5.0
20 5 340+2 vQ -200 140 40|13 1 3NO-1 ¢4 50 13.0 50|11 18 44 S+1 9 450 13.0 5.0
7 9 44 0= +9 -420 110 7.0|16 8 2NO-1 aT 50 13.0 50|14 7 44 S+1 9 450 13.0 5.0
11 3 44 0= vQ -420 11.0 7.0|18 10 3NO-1 ¢4 50 13.0 50|17 5 44 N+l &6 450 13.0 5.0
12 15 3NV +1 va -430 70 11.0(20 5 3NO-1 v7 50 13.0 50|12 4 44 N= +6 420 7.0 11.0
13 1 3NO+1 +vQ -430 70 11.0| 7 9 2NO= *4 -120 6.0 12.0{19 3 44 N= 2 420 7.0 11.0
4 17 44 O+1  &T -450 20 16.0| 4 17 24 O+1 vA -140 3.0 150| 6 20 3« N+2 &6 150 4.0 14.0
6 14 44 O+1 &9 -450 20 16.0(19 2 24 O+1 v7 -140 3.0 150| 1 15 64 S-2 oT -100 2.0 16.0
18 10 44 O+1 &9 -450 20 16.0| 6 14 3NO= v5 -400 0.0 18.0|13 2 64 N-3 »6 -150 0.0 18.0
4 « ED973 Bésta kontrakt 5 49 Bésta kontrakt 6 4 D1087 Bésta kontrakt
Vast vKn 5v V D -2 500 Nord v 10763 3NT O =-400 Ost v- 5v SD-2-300
Alla + D93 NS + 1097652 ov 46542
#D852 & ¢ v & NT #83 & ¢ v & NT #EK963 & ¢ v & NT
4 Kn 4642 N5 8 4 106 4 KD764 1085 N4 76 44 4 Kn2  EK643 N439 43
vKD962 vE875 S 58 4 106 vKD85 vKn4 S 476 44 vE652 D S 43943
+ 84 ¢ E1052 0859 37 +D3 ¢ Kng4 075799 ¢ ED987 ¢ KKn3 O 7 104 9 9
#EKn643 #97 V85937 #EKn #KD976 V75799 #Kn8 «D1042 V 7 104 9 10
4 K1085 4 EKn32 495
v 1043 vE92 v KKn1098743
+ KKn76 ¢ EK +10
#K10 210542 *75
Par  Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
6 20 44 N= vA 620 160 20|13 3 2v V-2 8 100 18.0 0.0|10 16 3vyDS= 43 530 18.0 0.0
12 4 44 N= vA 620 160 20| 4 19 340-1 *A 50 160 20|15 2 3v S= ) 140 16.0 2.0
19 3 44 N= vA 620 160 20| 9 11 3¢ S-1 vK -100 140 40| 9 11 44 0-1 *T 100 120 6.0
1 15 4v V-2 oA 200 120 6.0|10 16 24 V= 8 -110 11.0 7.0|14 8 44 0-1 *T 100 12.0 6.0
8 10 34 N+1 vA 170 7.0 11.0|20 7 24 V= v6 -110 11.0 7.0|18 12 5¢ V-1 *A 100 120 6.0
9 16 34 N+1 &9 170 70 11.0| 6 17 INV+1 49 -120 8.0 10.0| 6 17 3vS-1 a] -50 7.0 11.0
13 2 34 N+1  ¢2 170 70 11.0| 1 5 24 V+1l &8 -140 6.0 12.0{20 7 4vS-1 s] -50 7.0 11.0
17 5 34 N+1 &9 170 7.0 11.0|14 8 4¢ N-2 vJ] -200 20 16.0| 1 5 4¢vDS-1 &J -100 2.0 16.0
11 18 34 N= vA 140 20 16.0|15 2 5¢ N-2 aT -200 20 16.0| 4 19 4vS-2 a] -100 2.0 16.0
14 7 44 N-1 vA -100 0.0 18.0|18 12 2v N-2 4Q -200 20 16.0{13 3 4vyDS-1 &J -100 2.0 16.0
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7 4 K73 Basta kontrakt 8 4 Kn107632 Basta kontrakt 9 4 Kn862 Basta kontrakt
Syd v 765 2¢ V =-90 Vast vE7 34 N =140 Nord v KDKn5 44 ND-1-100
Alla +D1094 Ingen ¢ E432 ov ¢ 42
#K95 & ¢ v & NT &E & ¢ v & NT *KD7 & ¢ v & NT
a4 « D10982 N55556 4EKS5 484 N7 86 9 8 a4 « K975 N53898
vKDKn4 v93 S55656 v K82 v D10643 S78598 v98432 v- S53888
+ 8632 ¢ EK5 088776 410985 ¢ K6 06 57 45 + D10753 ¢ EKn98 O 7 104 4 4
#EKN76 #D32 V88776 #1062 #Kn843 V65745 +Kn4 #E10982 V 7 104 4 4
& EKn65 4D9 4 ED103
vE1082 v Kn95 vE1076
¢+ Kn7 ¢ DKn7 + K6
+1084 #KD975 #653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 4 3NO-2 v2 200 180 00| 1 18 24 N+2 v3 170 140 40(15 4 44 N+1 ¢A 450 18.0 0.0
8 20 24 V-1 +9 100 140 40| 2 6 24 N+2 #4 170 140 40| 3 7 4vy N= *A 420 16.0 2.0
10 12 2NO-1 v2 100 140 40| 7 17 24 N+2 v6 170 140 40|14 10 34 N+1  #8 170 140 4.0
14 9 INV-1 *4 100 140 40(15 3 24 N+2 v6 170 140 40(11 1 4vyN-1 &A -50 10.0 8.0
15 3 INV= +9 -90 9.0 9.0|19 5 34 N+1 &4 170 140 40(13 5 4vS-1 a4 -50 10.0 8.0
16 11 1INV = *T -90 9.0 9.0|13 4 24 N+1 &3 140 6.0 12.0|17 8 4y N-1 *A -50 10.0 8.0
1 18 2NV = v5 -120 3.0 15014 9 24 N+1 v3 140 6.0 12.0|16 12 14 O= a5 -80 6.0 12.0
2 6 2NO= +J -120 3.0 15.0|16 11 24 N+1 v2 140 6.0 12.0| 6 19 44 S-2 *] -100 3.0 15.0
7 17 1INV +1 +9 -120 3.0 15.0|10 12 2NS= +8 120 20 16.0|20 9 4v N-2 +9 -100 3.0 15.0
19 5 INV+1 v7 -120 3.0 150| 8 20 44 N-1 a4 -50 0.0 18.0| 2 18 4¢ V= vK -130 0.0 18.0
10 «D3 Bésta kontrakt 11 & K95 Bésta kontrakt 12 4 K9 Bésta kontrakt
Ost v K974 34 O =-140 Syd vD3 3v VD-1100 Vast vD10 4¢ V D -1 100
Alla + K964 Ingen + 10832 NS ¢ EKn
#765 & ¢ v & NT #9863 & ¢ v & NT #EKD9642 & ¢ v & NT
4 EKn109 &K75 N475 414 4 Kn8 47432 N9 5587 41065 4« DKn87 N 104 3 5 8
v 82 v EKn105 S4 7544 v EK5 v 109864 S95587 v EK62 v Kn9875 S 104 3 5 8
4 Kn5 ¢+ D73 096 7 98 ¢ EKKn65 ¢ 974 047856 ¢+ D109753 ¢ K64 03996 3
2108432 &EDKn V96798 D104 &7 V47856 &- &7 V3996 3
#8642 4~ ED106 & E432
v D63 v Kn72 v43
+ E1082 +D +82
*K9 #EKKn52 #Kn10853
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 7 3NO-2 +8 200 180 00|13 6 3#S= *A 110 16.0 2.0(14 11 3NN+2 *4 660 18.0 0.0
6 19 2 0= *A 90 140 40|17 9 34S= vA 110 160 20| 4 8 44 N-= *4 130 150 3.0
13 5 INO= 46 90 140 40|19 7 2&#S+1 ] 110 16.0 2.0(10 20 3& N+1 &7 130 150 3.0
14 10 INO= +3 90 140 4.0(14 11 3¢ V-1 *9 50 11.0 7.0(12 2 5#N-1 + K -100 7.0 11.0
11 1 2NO= a2 -120 8.0 10.0|18 3 2v V-1 a5 50 11.0 70(13 6 5#N-1 + K -100 7.0 11.0
16 12 INO+1 ¢5 -120 8.0 10.0|12 2 24 S-1 vK -50 8.0 10.0|16 1 5& N-1 +5 -100 7.0 11.0
17 8 INO+1 4 -120 8.0 10.0|10 20 2¢ V= & K -90 6.0 12.0|17 9 3NN-1 v6 -100 7.0 11.0
15 4 INO+2 44 -150 40 140 4 8 3vO= &A -140 20 16.0|18 3 5& N-1 v8 -100 7.0 11.0
20 9 INO+4 w7 -210 20 16.0|15 5 1v O+2 &A -140 20 16.0|19 7 5&N-1 48 -100 7.0 11.0
2 18 3NO= 2 -600 00 18016 1 3v V= *9 -140 20 16.0|15 5 5¢DV=&A -550 0.0 18.0
13 48 Basta kontrakt 14 4 D1086 Basta kontrakt 15 a2 Basta kontrakt
Nord vD74 4v O =-620 Ost v KKn 3v O =-140 Syd vE743 54 S =650
Alla + EKD1032 Ingen ¢+ E94 NS + EK8
£962 & ¢ v & NT #ED63 & ¢ v & NT #ED875 & ¢ v & NT
« E1076 4932 N26 244 o EKKN2 494 N7 8474 4765 &ED9 N 109 101110
vKKn1096 vE53 S 27344 v1075 v E96432 S78474 vD862 vKn5 S 109 101110
¢ 9754 +6 09 6 107 7 ¢+KKn2 ¢53 06 5967 + D743 ¢ 1052 033322
»- #EKD1074 V 9 6 107 7 #K85 #1072 V65968 »32 #Kn10964 V 3 3 3 2 2
 KDKn54 4753 & KKn10843
v 82 vD8 v K109
+ Kn8 + D10876 + Kn96
#Kn853 +Kn94 &K
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
8 19 4v V-1 48 100 180 00| 8 19 4v O-3 3 150 170 1015 7 44 S+l *2 650 18.0 0.0
17 10 3v O = *A -140 160 20|15 6 24 V-3 *4 150 170 10| 1 14 3NN+1 *] 630 16.0 2.0
7 13 3#0+2 4 -150 140 4.0|17 10 INN+1 49 120 140 40| 6 10 3NN= &J 600 10.0 8.0
1 3 3vO+1 ¢A -170 120 6.0(18 4 2vDV-1 46 100 120 6.0 9 19 3NN= v5 600 10.0 8.0
5 9 3¢ N-2 *A -200 7.0 11.0|16 2 2NN-1 v5 -50 10.0 80|13 8 3NS= LN 600 10.0 8.0
11 20 3¢ N-2 *A -200 70 110| 1 3 3vV+1 *A -170 50 13.0|16 3 3NN= +5 600 10.0 8.0
14 12 3¢ N-2 &A -200 70 11.0| 5 9 2vV+2 48 -170 5.0 13.0|17 11 3NN= LN, 600 10.0 8.0
18 4 3¢ N-2 *A -200 7.0 11.0| 7 13 2v V+2 *6 -170 50 13.0| 2 4 2NN= *9 120 4.0 14.0
15 6 34S-3 v9 -300 1.0 170|11 20 2v V +2 48 -170 50 13.0|18 5 3NN-1 &J -100 2.0 16.0
16 2 5¢ N-3 &A -300 10 17.0(14 12 2¢yDV= 46 -470 0.0 18.0|20 12 4v S-2 *3 -200 0.0 18.0
16 4 D54 Bésta kontrakt 17 4963 Bésta kontrakt 18 « ED9 Bésta kontrakt
Vast v EK98 2NT N =120 Nord v EK84 64 O =-980 Ost v EK103 INT S =2220
ov + Kn654 Ingen + Kn42 NS + EK873
#105 & ¢ v & NT *764 & ¢ v & NT *6 & ¢ v & NT
41092 &4K763 N7 887 8 4 ED10542 & KKn7 NO3400 K6 442 N 1111101313
vD1062 v43 S7887 8 v3 v DKn92 S03400 v 865 vDKn9742 S 11119 1313
¢ 87 ¢ E1092 06 5565 + EKD5 +9 O 129 9 1211 +D1064 ¢ Kn9 022300
#EKD2 #Kn86 V655675 *92 #EKD85 vV 129 9 1211 #D1094 #753 V22300
» EKn8 48 # Kn108753
v Kn75 v 10765 v-
+ KD3 4108763 +52
#9743 #Kn103 #EKKn82
Par  Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
13 8 24 O0-2 + K 200 180 0.0(18 6 44 V+1 vA -450 180 00| 3 5 64 S+1 «9 1460 140 4.0
1 14 INN+1 *6 120 16.0 20|14 2 44 V+2 vA -480 160 2.0| 8 15 64 S+1 9 1460 140 4.0
2 4 24 S-= *A 110 140 40|16 4 44 V+3 »5 -510 14.0 4.0|17 12 64 S+1 v6 1460 140 4.0
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20 12 24 O-1 +K 100 120 6.0| 3 5 3NV+4 ¢2 520 11.0 7.0|19 10 64 S+1 #4 1460 140 4.0
18 5 1v N= *6 80 100 80| 7 11 3NO+4 3 520 11.0 7.0|/20 1 64N+l vQ 1460 140 4.0
9 19 Pass 70 110 9 13 64 V= vA -980 50 13.0( 9 13 44 S+3  #9 710 7.0 11.0
15 7 Pass 7.0 11.0|17 12 64 V= vA -980 50 13.0(18 6 44 S+3  #9 710 7.0 11.0
16 3 1v N-1 ¢ A 50 4.0 14.0|19 10 64 V= vA -980 50 13.0{16 4 3NN+3 vQ 690 4.0 14.0
17 11 INV= vA -90 20 16.0(20 1 64 V= vA -980 50 13.0| 7 11 44 S+2  &T 680 20 16.0
6 10 34 S-3 *A -150 0.0 18.0| 8 15 64 V+1 43 -1010 0.0 18.0(14 2 7NN-1 v9 -100 0.0 18.0
19 497642 Basta kontrakt 20 «KD103 Basta kontrakt 21 » EK8432 Basta kontrakt
Syd v K87 3v S =140 Vast v- 4¢ N =130 Nord vE85 4% O D -2 300
oV + E1053 Alla + ED9832 NS ¢32
#D & ¢ v o NT »874 & ¢ v o NT #102 & ¢ v & NT
4 KD5 « EKn108 N 108 9 7 7 4 EKN965 487 N 6 105 5 7 4Kn976 - N547 99
v1093  vKn42 S 108 9 7 7 vKKn63 vE942 S 6 105 6 7 v Kn6 vK1074 S54799
¢ DKn42 ¢976 035266 +10 ¢ Kn65 073875 49854 ¢ EKn106 088544
#1054  #EKn8 V35266 #D95 #E1063 V73875 #543 #EKKn97 V88534
43 442 « D105
v ED65 vD10875 v D932
+ K8 ¢+ K74 + KD7
*K97632 #KKn2 +D86
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
516 2NS+3 +Q 210 180 0.0(15 9 3¢4DN+1 48 870 180 0.0|16 6 44 N= *A 620 170 1.0
18 7 2v S+1 K 140 150 3.0|13 10 4v V-4 *A 400 160 20|20 3 44 N= *A 620 170 1.0
19 11 3v S= +K 140 150 30| 8 12 3v V-2 *4 200 140 40| 5 7 34 N+1 #A 170 140 4.0
13 10 3#S+1 2 130 100 80| 5 16 3¢ N+1 48 130 90 9.0(14 4 34 N-= *A 140 120 6.0
15 9 3#S+1 vT 130 100 8.0(18 7 3¢ N+1 46 130 9.0 9.0|19 12 44 0-2 +Q 100 100 8.0
20 2 24S+2  e2 130 100 8.0|19 11 3¢ N+1 8 130 9.0 9.0{10 15 4+0-1 45 50 8.0 10.0
8 12 2v S= ¢J 110 50 13.0(20 2 3¢ N+1 8 130 90 9.0(11 13 34 N-1 *A -100 50 13.0
17 1 2v S= +K 110 50 13.0| 3 14 2v V-1 *A 100 3.0 15018 8 44 N-1 *A -100 5.0 13.0
3 14 2NS-1 2 -50 20 16.0| 4 6 3a4V-1 *A 100 3.0 15.0| 2 17 44aDN-1 #A -200 1.0 170
4 6 3NN-2 vQ -1000 0.0 18017 1 2vV= oK -110 0.0 18.0| 9 1 44DN-1 #A -200 1.0 17.0
22 47654 Basta kontrakt 23 4 E95 Basta kontrakt 24 487 Basta kontrakt
Ost v 853 4v O =-620 Syd v 104 54 S =650 Vast v EKn 34 V =-140
oV ¢ KDKn2 Alla + K6542 Ingen + D10732
»E5 & ¢ v &4 NT *EKD & ¢ v & NT 10653 & ¢ v o NT
«KKn103 «ED2 N6 7 235 aKD42 410 N 7 107 1110 « KKn105 4 E642 N7 7446
v K762 v EKn109 S6 7235 v 965 v DKn732 S 7 107 1110 vD1087 v 9654 S77 446
4653 +109 O7 6 109 8 ¢+E9 ¢ 107 06 2522 + E64 ¢+ K5 055997
*KD *Kn972 V 7 6 109 8 #Kn963 #108542 V62522 *92 *«KD7 V66997
98 4 Kn8763 D93
vD4 v EK8 v K32
+ E874 ¢ DKn83 + Kn98
108643 *7 #EKn84
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
2 17 4v O-1 49 100 150 3.0|20 4 44 S+1 +A 650 180 0.0]|10 2 14 V+1l 5 -110 18.0 0.0
5 7 4v0-1 49 100 150 3.0| 5 14 44 S= 3 620 130 50| 5 14 2v V+1 48 -140 9.0 9.0
10 15 4v V-1 ¢+ K 100 150 3.0| 7 16 44 S= a4 620 130 50| 6 8 2vV+l 48 -140 9.0 9.0
14 4 4v0-1 49 100 150 3.0| 9 18 44 S= *A 620 130 50| 7 16 2v V+1 T -140 9.0 9.0
20 3 2v V= +K -110 100 80|19 1 44 S= v5 620 130 50| 9 18 1y V+2 48 -140 9.0 9.0
16 6 2v O+1 a5 -140 8.0 10.0[12 13 5¢ N= vQ 600 80 10.0(12 13 2v V+1 &7 -140 9.0 9.0
18 8 3vV+l K -170 6.0 120 6 8 2¢ N+2 &T 130 6.0 12.0|15 11 3y V= 48 -140 9.0 9.0
9 1 2vV+3 @A 200 3.0 15010 2 44 S-1 3 -100 20 16.0|17 3 1y V+2 48 -140 9.0 9.0
19 12 3v O+2 49 -200 30 15.0|15 11 44 S-1 ¢A -100 20 16.0(19 1 2vV+1 48 -140 9.0 9.0
11 13 4v V+1 K -650 0.0 18.0|17 3 64 N-1 v2 -100 20 16.0{20 4 4vO= 3 -420 0.0 18.0
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